	C2H3Cl3

	[image: image1.jpg]ppm 9 8





	C2H4Cl2
[image: image2.jpg]cl
CH3-CH{
cl




	[image: image3.jpg]ppm 9 8 7 6





	C2H4O2
[image: image4.jpg]e

Hic—0”

0




	[image: image5.jpg]Ppm 9

7





	C2H4O2
[image: image6.jpg]HO

Hic/

0




	[image: image7.jpg]Sweep.
offset 550 Hz
A 3 3 1

Pppm9 8 7 6 5 0





	C2H5Br

[image: image8.jpg]CH3-CHz-Br




	[image: image9.jpg]ppm





	C2H5I

[image: image10.jpg]CH3-CHz-




	[image: image11.jpg]ppm





	C2H5O2N

[image: image12.jpg]CH3-CH2-NO2




	[image: image13.jpg]ppm





	C2H7ON

[image: image14.jpg]HO-CH:-CHz-NH;




	[image: image15.jpg]3 2 1 0

|‘!

ppm 8 7 6





	C2H8N2
[image: image16.jpg]\N—NHZ
cHy”




	[image: image17.jpg]ppbm9 8 7 6 5 4 3 2 1 0





	C2H8N2
[image: image18.jpg]CHz—NHz

H;N—CH:




	[image: image19.jpg]ppbm9 8 7 6 5 4 3 2 1 0






	


	[image: image20.png]


C3H4NCl

[image: image21.jpg]CI-CH2-CH2-C=N




	[image: image22.jpg]ppm 9 8 7 6 5 4





	C3H4NCl

[image: image23.jpg]



	[image: image24.jpg]ppm 9

8





	C3H4O

[image: image25.jpg]H-CEC-CH2-OH




	[image: image26.jpg]ppm





	C3H4OCl2
[image: image27.jpg]CHa-cH{

Cl




	[image: image28.jpg]ppm 9

8





	C3H6Cl2
[image: image29.jpg]CHz-Cl
CH2
CHz-CI




	[image: image30.jpg]ppm.





	C3H6I2
[image: image31.jpg]CHz-1
CH2
CHz-1




	[image: image32.jpg]ppm.





	C3H6O

[image: image33.jpg]



	[image: image34.jpg]ppm





	C3H6O2
[image: image35.jpg]CHa-CHz-0

c=0
'




	[image: image36.jpg]ppm





	C3H6O2
[image: image37.jpg]CH3

N/

c=0

CH3




	[image: image38.jpg]Ppm 9

7





	C3H6O2
[image: image39.jpg]CH:—0,

CH:—0”

CH:




	[image: image40.jpg]ppbm9 8 7 6 5 4 3 2 1 0





	C3H7Cl

[image: image41.jpg]CH3-CH2-CH2-Cl




	[image: image42.jpg]b
3 2 1 0

ppm 9 8 7 6 5 4





	C3H7I

[image: image43.jpg]CHsy
CHy

CH-




	[image: image44.jpg]ppm9 8 7 6 5 4





	C3H7O2N

[image: image45.jpg]CHa,
CH -NO2
cHy”




	[image: image46.jpg]ppm9 8





	C3H7OCl

[image: image47.jpg]CI-CHz

CH3-CH2'

N/




	[image: image48.jpg]ppm





	C3H8O

[image: image49.jpg]



	[image: image50.jpg]|‘ bl |
ppm 8 7 6 5 4 3 2 1 0





	C3H8O

[image: image51.jpg]CHS-O\CHZ-CNG




	[image: image52.jpg]




	C3H8O2
[image: image53.jpg]



	[image: image54.jpg]Ppm 9

7





	C3H10N2
[image: image55.jpg]H2N-CH2-CH2-CH2-NH2




	[image: image56.jpg]ppm 9

F)






	


	[image: image57.png]


C4H4O

[image: image58.jpg]n-c=c-cZ
CHs




	[image: image59.jpg]ppm 9

8





	C4H6N

[image: image60.jpg]CH3-CHz

CH3-CHz

N




	[image: image61.jpg]ppm





	C4H6O

[image: image62.jpg]



	[image: image63.jpg]ppm





	C4H6O

[image: image64.jpg]H-CEC-CH2-0,
'CH3




	[image: image65.jpg]ppm





	C4H6O

[image: image66.jpg]CH3-C=C-CH2-OH




	[image: image67.jpg]ppm





	C4H7O2
[image: image68.jpg]CH3
C=

CH3-CH2-0

0




	[image: image69.jpg]ppm





	C4H7OBr

[image: image70.jpg]CHy-CH,-0  Br




	[image: image71.jpg]ppm9 8





	C4H7OCl

[image: image72.jpg]CHay,
CHi-CHY,
oGt




	[image: image73.jpg]ppm 8 7 6 5





	C4H8O2
[image: image74.jpg]CH3.
Ne=0

s
CH3-CH2-0




	[image: image75.jpg]ppm





	C4H8O2
[image: image76.jpg]Hy
Hz
H3

S o o
N N




	[image: image77.jpg]ppm9 8





	C4H8O3
[image: image78.jpg]H3
H2

S8 0
\N/\ 7/
o’ Y

o=
CH;




	[image: image79.jpg]ppm9 8





	C4H9Br

[image: image80.jpg]CH;

5,
N\,

JCH-CH2-Br
CHy” o




	[image: image81.jpg]ppm 9

F)





	C4H9Cl

[image: image82.jpg]CH;,
H-CH2-Cl
cm>c




	[image: image83.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C4H9I

[image: image84.jpg]



	[image: image85.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C4H9ON

[image: image86.jpg]CH3.
N-C,

N
CH3 CHs

N/




	[image: image87.jpg]ppm





	C4H10O

[image: image88.jpg]CHa-CHz

CHa-CH2 7




	[image: image89.jpg]ppm





	C4H11N

[image: image90.jpg]H3C,
H3C —C—NHz
HaC




	[image: image91.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C4H11O2N

[image: image92.jpg]LN

SCH-CHy-NH;
CH:-07'




	[image: image93.jpg]ppm






	


	C5H6O

[image: image94.jpg]



	[image: image95.jpg]ppm.





	C5H6O2Cl2
[image: image96.jpg]



	[image: image97.jpg]’ |||. |
6 5 4 3 2 1 0

ppm 9 8 7





	C5H8O2
[image: image98.jpg]CH2-CHz,
NCH2-CH2”




	[image: image99.jpg]ppm 9 8





	C5H8O3
[image: image100.jpg]Hs
Ha

N \C/ \0/
VY

0=
o=
cl




	[image: image101.jpg]ppm9 8





	C5H10O

[image: image102.jpg]CH3-CHz
o
CHaCHz”




	[image: image103.jpg]ppm





	C5H10O2
[image: image104.jpg]CHCHzy,
c=0
CH3-CH-0'




	[image: image105.jpg]IHI 1||\ ‘| |
5 4 3 2

ppm 8 7 6 1 0





	C5H10O2
[image: image106.jpg]CH;
“Sc=0
CH3-CH,-CH;-0'




	[image: image107.jpg]|

4

3

il |‘| |
2 1 0





	C5H10O2
[image: image108.jpg]CHay
CHs/

CHsy
CH-0

C:




	[image: image109.jpg]ppm





	C5H10O2
[image: image110.jpg]CHs  OH
N\ 7
c

/N ./

CH3




	[image: image111.jpg]ppm9 8





	C5H10O3
[image: image112.jpg]CH3-CH2-0,
o
CH3-CHz-0”




	[image: image113.jpg]ppm





	C5H10O4
[image: image114.jpg]CH3—0,
o
CH-C?
N\

N/

CH3—0
CH3.




	[image: image115.jpg]ppm9 8





	C5H11Br

[image: image116.jpg]HaC
HaC—C—CHF
Hic/

Br




	[image: image117.jpg]ppm9 8





	C5H11ON

[image: image118.jpg]CHa-CHz( 0

.
cHcH' W




	[image: image119.jpg]ppm





	C5H12O

[image: image120.jpg]HiC
HiC lc—o\
Hc” 'CH3




	[image: image121.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C5H12O

[image: image122.jpg]LEN
H3C—C—CHz,
Hsc/

Non




	[image: image123.jpg]ppm9 8





	C5H13N

[image: image124.jpg]CHs
CH3 3 C—CHz_

CH3 NH2




	[image: image125.jpg]ppm9 8






	


	[image: image126.png]


C6H2F2N2O4
[image: image127.jpg]



	[image: image128.jpg]




	C6H3Cl2I

[image: image129.jpg]cl,

cl





	[image: image130.jpg]ppm.





	C6H4ON2
[image: image131.jpg],CH2-CHa-(





	[image: image132.jpg]ppm 9

F)





	C6H3O4N2Cl

[image: image133.jpg]NOz2 H




	[image: image134.jpg]




	C6H4OCl2
[image: image135.jpg]



	[image: image136.jpg]ppm.





	C6H6NBr

[image: image137.jpg]



	[image: image138.jpg]ppm 9 8





	C6H8
[image: image139.jpg]CHz,

W cH
I [}
WG CH
A

CH2




	[image: image140.jpg]ppm9 8





	C6H8N2
[image: image141.jpg]"@m

H NH




	[image: image142.jpg]ppm9 8





	C6H10O4
[image: image143.jpg]CH:

H:
~o~'

>c=0

cz0
N0~ NCHs




	[image: image144.jpg]ppm9 8





	C6H10O4
[image: image145.jpg]7
CH3-CHz-0’




	[image: image146.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C6H11O2Cl

[image: image147.jpg]HsC, C,
HsC —\C/ N

Hic”

Cl

0— CHz/




	[image: image148.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C6H12O

[image: image149.jpg]N
HiC—cC

Hac”/

CHJ




	[image: image150.jpg]ppm9 8





	C6H12O2
[image: image151.jpg]H3C
HiC —C
H3C

el
—c”
N\

HsC/




	[image: image152.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C6H12O2
[image: image153.jpg]



	[image: image154.jpg]ppm9 8





	C6H12O2Cl2
[image: image155.jpg]CHa-CH:-0
HC-CHCI:
CHy-CH.-0"




	[image: image156.jpg]i H |
6 5 4 3

2 1 0

ppm 8 7





	C6H12O3
[image: image157.jpg]



	[image: image158.jpg]ppm 9

F)





	C6H14O

[image: image159.jpg]CHs,
P
Ha’™ Yo CHy

CH3




	[image: image160.jpg]ppm9 8 7 6 5 4





	C6H14O

[image: image161.jpg]CH3-CH2-CHz,
o
CH3-CH2-CH2”




	[image: image162.jpg]ppm 9 8 7 6 5 4 3 2 1 0






	


	[image: image163.png]


C7H4OCl2
[image: image164.jpg]



	[image: image165.jpg]ppm





	C7H5O4N2Cl

[image: image166.jpg]NO2

cl

NO2





	[image: image167.jpg]ppm





	C7H7Br2
[image: image168.jpg]



	[image: image169.jpg]




	C7H7OBr

[image: image170.jpg]



	[image: image171.jpg]ppm 9 8 7





	C7H8O

[image: image172.jpg]



	[image: image173.jpg]ppm9 8





	C7H9O2N

[image: image174.jpg]



	[image: image175.jpg]




	C7H11O2N

[image: image176.jpg]



	[image: image177.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C7H12O4
[image: image178.jpg]CH3-CHz0-CO_
CHz
CH3-CH2-0-CO’




	[image: image179.jpg]




	C7H14O

[image: image180.jpg]CH3-CH2-CHa,

c=0
CH3-CH2-CHy”




	[image: image181.jpg]ppm 9 8 7 6 5 4 3 2 1 0






	C7H14O

[image: image182.jpg]



	[image: image183.jpg]ppm 9 8 7 6 5 4 3 2






	


	[image: image184.png]


C8H6O2
[image: image185.jpg]



	[image: image186.jpg]Sweep
Offset
550 Hz

ppm9 8 7 6 5 4 3 2





	C8H7N

[image: image187.jpg]



	[image: image188.jpg]ppm9 8





	C8H7OCl

[image: image189.jpg]



	[image: image190.jpg]




	C8H7OF

[image: image191.jpg]



	[image: image192.jpg]




	C8H8O

[image: image193.jpg]



	[image: image194.jpg]ppm9 8





	C8H8O2
[image: image195.jpg]



	[image: image196.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C8H9O2Br

[image: image197.jpg]



	[image: image198.jpg]ppm9 8





	C8H9O3N 

[image: image199.jpg]H__H

HO-CH:'CH:@NO:

H H




	[image: image200.jpg]’ h |
PpM 8 T 6 5

4 3 2 1 0





	C8H9OCl

[image: image201.jpg]CHy. CHs

) H




	[image: image202.jpg]ppm9 8





	C8H10O

[image: image203.jpg]cHa.




	[image: image204.jpg]ppm9 8





	C8H10O2
[image: image205.jpg]



	[image: image206.jpg]ppm9 8 7 6 5 4 3 2 1 0





	C8H11N

[image: image207.jpg]



	[image: image208.jpg]ppm9 8





	C8H11N

[image: image209.jpg]



	[image: image210.jpg]ppm9 8





	C8H11N

[image: image211.jpg]CHs3

HzN@N

CH3




	[image: image212.jpg]Signal
large

ppm9 8 7 6 5 4





	C8H12O6
[image: image213.jpg]



	[image: image214.jpg]ppm 9

8





	C8H18O2
[image: image215.jpg]CHy CH3
|
HO-G-CH2-CH2-¢-OH
CHs3 CHs




	[image: image216.jpg]ppm9 8





	C8H18O3
[image: image217.jpg]CH3-CHz-0N
CH3-CHz-0—C-CH3
CH3-CH2-0'




	[image: image218.jpg]ppm






	


[image: image219.png]CoH70,Cl

H H
@°~sz
o o-CH2
°

ppm 9

CsHoN

H H

cm@'cm—cau

ppm 9

ppm 9

8 7
8 7
8 7





[image: image220.png]0
0-CHz-CH3
7 6 5 4 3 2 10
Sweep
Offset
CoHgO3Br 600 Hz
W o l
cHs
N -CHO
CHy—0
7 6 5 4 3 2 10
CoH100
% H
c CHz-CH3
N/@ :
W j |
I 1
7 6 5 4 3 2 1 0
CoH100
H
H CHz
‘qi-,=c
H H CH3 | |
H +
7 6 5 4 3 2 10





[image: image221.png]CsH1002

H CH2-0
H e
H
ppm9 8 7
CsH1002
H
H CH,
N\,
Jc=0
[
H H  \CHs
H
ppm9 8 7

ppm 9

8 7

CsH1002
CH3, H
H COOH
CH3 H
CsH1003
CH3-0, H
0
H C//
H
CH3-0 H





[image: image222.png]ppm9 8 7 6 5 4 3 2 1 0

Sweep
Offset
600 Hz

CgHy1Br

CH2-CH2-CH2-Br

H H

||| |||JI| |
4 3 2

ppm9 8 7 6 5 10

CoHy10Br

ppm9 8 7 6 5 4 3 2 1 0





[image: image223.png]HaC

CoHyz

CH3

H
IOICH:
H

ppm9 8 7 6 5 4 3 2 1 0
CgH120
CH3
H CH2-CH
RO |
1L |‘|
H H
ppm 8 7 6 5 4 3 2 1 0
5H120
H CH3
H’ CH3
ppm9 8 7 6 5 4 3 2 1 0
CgH120

ppm 9

8 7 6 5 4 3 2 10





[image: image224.png]ppm 9

ppm 9

CoH1405

CH:-CH0CQ ,CO-CH:
c;
CH:-C00” “CHy

ppm

CoHzo

CHg-CHa, ,CHz-CH3
c:

cHaCHy” “CH2-CHy

ppm 9





[image: image225.png]C10H100

CH;

H@CH:

CHs'  CHO

Sweep

600 Hz

ppm 9

C10H1002

Jorx:
CH: ¢ Hz
o

]

C10H1002

H_ coch:
H. H

cHcO  H

ppm 9

°

C10H1004

ppm9

ol





[image: image226.png]C10H300C!

H 0
F@
‘CH2-CH2-CH2-CI

H

N,

8 7 6 5 4 3 2 10

]

3
3
©

C1oH11Cl
CHy _ CHxCl
H. CH,
cHH
pm9 8 7 6 5 4 3 2 1 0
C1oH1102C!
H H

N
CH2-CH2-CHz-CI

8 7 6 5 4 3 2 10

]

3
3
©

C10H11ON
CHi—Q__ H
CH3:
H





[image: image227.png]Sweep

Offset
C10H120 5001
[ chs 1
o cHo
W s
ppm9 8 7 2 10
C10H1202
CHs, H
CMJ‘O@—CNO
"
ppm9 8 7 2 10
C10H1202
OH
CN:‘@CD -CH3
CH3
ppm9 8 7 2 10
Sweep
C10H1202 offset
600 Hz
H CH3
CHJ‘@COOH
H CH3
ppm9 8 7 2 10





[image: image228.png]C10H1203

H H

OH

CH_ /O-CH2-CHy
¢

< signal
large

o
pm9 8 7 4 3 2 10
C10H1203
o
‘0-CHCH2CH
H ]
ppm9 8 7 4 3 2 10
C10H1204 Sween
St 5501z
cHro
RO 1
o 4
o <o nt
ppm9 8 7 4 3 2 10
C10H1204
cHso "
0 //u
cis S
CHs.0





[image: image229.png]C10H1204

CH3O, H

CHy0 W

C10H12015Cl

CHy__ CHe—Cl
H@CHJ

CH3





[image: image230.png]C10H180

CH3  CH

R
CHz—C

=( CH:

° c\cnz—c/ ‘
7\

CH3 CH3

N\

C10H150

H cHy
OH

cHy cHz

W ‘cHy

ppm9 8 7 6 5 4 3 2 1 0





[image: image231.png]C11H2004

CHiCHa, _,COO-CH:CH;
CH:CHz”"SCOO-CH.CHs

Il I
ppm 8 7 6 5 4 3

J‘HI |
10

2
C12H1203
CH5-CO, H
H. CO-CH;
CH:-CO
ppm9 8 7 2 10
C12H1206
HIC0
ppm9 8 7 2 10
C12H1602
oM
—cH,
S {op”
cHi—o
H on
ppm9 8 7 2 10





[image: image232.png]C13H1502N

CH3-CHz,

N\
NCHICHa, A
ChHa-CHy <
H

C14H2202
o My
\,
%@}\M
HaC' CHs
pm9 8 7 6 5 4 3 2 1 0
C16H1602
" W
W W
H Hz,
'0- C//
W " NcHzcHs





